MERCRUISER [OF.3L D-TROMIC 1998
Serial Mbr Fange: OK.095775 AND UP )

¥ OIL REGULATOR AMD COOLER

Ref |Clazs|Part Description Qt Comment
2 19 853411 |PLUG [344-14) 1
3 10 853219|SCREW [M8 = 25) 2
3 10 253412| SCREW (M8 = 70) 2
4 853400/ COOLER 1
5 22 853401 |[ELBOW [90 Dieg.) 3
f 22 853409| COMMECTOR 1
7 3] 205803|FILTER 1
a2 253268 | HEADER-OIl 1
3 853413 COVER -0l Outlet 1
10 10 B53227 | SCREW (M8 = 30) 2
11 32 853417 | HOSE -Coaler to Engine 1
12 32 302729 HOSE Filter to Regulator 2
13 22 02725 ELBOW [45 Dieg.) 1
14 22 853408 ELBOW [90 Deg.) 1
15 22 B02722| JUMCTION 1
16 27 B53413| GASKET 1
17 27 253418| GASKET-0il Coaler 1
18 54 853420 STRAP-0Il Cooler 2
19 32 853337 HOSE-Heat Exchanger to Oil Coale| 1
20 32 853422\ HOSE -Seawater pump ta Air Cooler| 1
21 54 853172 | CLAMP 4
22 253260/ ANODE 1
23 853184 BRACKET 1
24 853047 | BRACKET-0il Header 1
25 32 8027 28| HOSE -Cooler to Regulator 1
26 22 802724\ COMMECTOR 1
27 10 253457 | SCREW [M10 = 30] 3
28 853483 SEMDER-OIl Prezzure 1
29 54 a02732| CLAMP 1
30 10 B53466| SCREW (M8 = 20) 3
Kl 10 853377 | SCREW (M8 = BO) 2
32 11 B534E8 | MUT M) 2
EX] 22 8534071 |[ELBOW [90 Dieg.) 1
M 22 B027 30/ ELBOW [90 Deg.) 1
35 22 B02726|CONNECTOR 1




